

3.98
8

1/2 * AC * BD * S_0

$S_0 = h$ (proj) \Rightarrow
 $SM = \frac{h}{\sin \beta}$
 $OM = \frac{h}{\tan \beta}$

$OC = \frac{OM}{\sin \frac{\beta}{2}} = \frac{h}{\sin \frac{\beta}{2} \tan \beta} \rightarrow AC = 2OC = \frac{2h}{\sin \frac{\beta}{2} \tan \beta}$
 $OB = \frac{OM}{\sin(90 - \frac{\beta}{2})} = \frac{h}{\cos \frac{\beta}{2} \tan \beta} \rightarrow BD = 2OB = \frac{2h}{\cos \frac{\beta}{2} \tan \beta}$

1/3 * S_0 * h

$V = \frac{1}{3} \cdot S_0 \cdot h = \frac{1}{3} \cdot \frac{AC \cdot BD}{2} \cdot h = \frac{1}{3} \cdot \frac{4h^2}{\sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta} \cdot h$

$V = \frac{4h^3}{3 \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta} \rightarrow h = \sqrt[3]{\frac{3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4}}$

$AB = \sqrt{AO^2 + BO^2} = \frac{2h}{\tan \beta} \sqrt{\frac{1}{\sin^2 \frac{\beta}{2}} + \frac{1}{\cos^2 \frac{\beta}{2}}} = \frac{2h}{\tan \beta} \sqrt{\frac{\cos^2 \frac{\beta}{2} + \sin^2 \frac{\beta}{2}}{\sin^2 \frac{\beta}{2} \cos^2 \frac{\beta}{2}}}$

$= \frac{2h}{\tan \beta} \sqrt{\frac{4}{\sin^2 \beta}} = \frac{2h}{\tan \beta \sin \beta}$

$AB = \frac{2}{\tan \beta \sin \beta} \sqrt[3]{\frac{3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4}} = \sqrt[3]{\frac{6V}{\sin^2 \beta \tan \beta}}$

SOH p r m (proj)

$\frac{r}{OM} = \frac{SO}{SM} \Rightarrow \frac{SO - r}{SM}$

$r \cdot SA = OA \cdot SO - r \cdot OA$

$r = \frac{AO \cdot SO}{SM + OA} = \frac{\frac{h}{\tan \beta} \cdot \frac{h}{\sin \beta}}{\frac{h}{\tan \beta} + \frac{h}{\sin \beta}} = \frac{h^2}{h \left(\frac{\sin \beta + \tan \beta}{\sin \beta \tan \beta} \right)} = \frac{h}{\sin \beta + \tan \beta}$

$= \frac{1}{\sin \beta + \tan \beta} \sqrt[3]{\frac{3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4}} = \frac{1}{\sin \beta + \frac{\sin \beta}{\cos \beta}} \sqrt[3]{\frac{3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4}} = \frac{\cos \beta}{\sin \beta (1 + \cos \beta)} \sqrt[3]{\frac{3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4}}$

$= \frac{\cos \beta}{\sin \beta (1 + \cos \beta)} \sqrt[3]{\frac{3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4}} = \frac{\cos \beta}{\sin \beta} \sqrt[3]{\frac{\cos^2 \beta \cdot 3V \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4 \sin^2 \beta (1 + \cos \beta)^2}} = \frac{\cos \beta}{\sin \beta} \sqrt[3]{\frac{3V \cos^2 \beta \sin \frac{\beta}{2} \cos \frac{\beta}{2} \tan^2 \beta}{4 (1 + \cos \beta)^2}}$

$$\tan \frac{\alpha}{2} = \frac{\sin \alpha}{1 + \cos \alpha} \quad \text{also } \cos \alpha = \frac{1 - \tan^2 \frac{\alpha}{2}}{1 + \tan^2 \frac{\alpha}{2}}$$

$$\sqrt[3]{\frac{3V \cot \beta \sin \alpha}{4(1 + \cos \alpha)^2} \cdot \frac{\sin^2 \beta}{\sin^3 \beta}} = \sqrt[3]{\frac{3V \cot \beta \sin \alpha}{4} \cdot \frac{\tan \frac{\alpha}{2}}{\sin \beta}} = \frac{1}{2} \frac{\tan \frac{\alpha}{2}}{\sin \beta} \sqrt[3]{6V \cot \beta \sin \alpha}$$